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1. Critical Value (CV) Approach
Lot = ylada = y 053 =7.81
df =C -1

chalc < )(zcrit
Fail to reject H,

2. The p value Approach

p=.08
P>«
Fail to reject H,

Fail to reject H,

There is insufficient evidence that, in the population, the four
candidates differ in terms of the proportion of voters preferring

each. (;(32 =6.88, p=.08).



Interval Estimation

All Students at

Dr. Coffey’s
College
10 of X =9.90
Dr. Coffey’s ( )
Students s =4.07
n=10

Point Estimate = (Critical Value at a)(SE)

)? ita,df ° SX

A 95% (a.=.05) Confidence Interval

9.90 +(2.262)-(1.29) =9.90 + 2.92
6.98 < 11<12.82

A 99% (a=.01) Confidence Interval
9.90+(3.250)-(1.29)=9.90+4.19

571< u<14.09



